
Math

Division

To divide numbers that end in zeroes, divide the rest of 
the numbers. Then, count the zeroes and add them to the answer.  

 

350 ÷ 7 
35 ÷ 7 = 5

350 ÷ 7 = 50 

36 ÷ 6 = 6
360 ÷ 6 = 60 

11 ÷ 11 = 1
1100 ÷ 11 = 100 

64 ÷ 8 = 8
6400 ÷ 8 = 800 

144 ÷ 12 = 12
1440 ÷ 12 = 120 333 ÷ 333 = 1

3330 ÷ 333 = 10 
132 ÷ 6 = 22
1320 ÷ 6 = 220 

45 ÷ 5 = 9
45000 ÷ 5 = 9000 

28 ÷ 4 = 7
2800 ÷ 4 = 700 

1100 ÷ 11 

6400 ÷ 8 

2800 ÷ 4 

360 ÷ 6 

3330÷ 333 
1440 ÷ 12 

1320 ÷ 6 

45000 ÷ 5

Division Quick Trick!

Examples:  2400 ÷ 2 = ? 
 First divide 24 by 2 = 12. 
 There are two zeroes.  
 Write 2 zeroes after 12.  
 Therefore, 2400 ÷ 2 = 1200.  
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Ending 
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